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EMHEFE 100. 0% 92. 6% 92. 2%
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NEZEHE 62. 5% 27. 4% 35. 2%
EMHEFE 100. 0% 86. 2% 83. 5%
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NEZEHE 56. 3% 26. 2% 42. 7%
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EMHEF 100. 0% 94. 3% 94. 0%
7S5 U REER

NEZEHE 24. 8% 13. 5% 18. 4%
EMHEFE 98. 4% 82. 0% 84. 3%

R EFR
NEZEHE 53. 9% 44. 8% 49. 6%
EMHEFE 97. 1% 0. 0% 57. 8%

E S EZE SEXIEER
NEZEHE 14. 6% 40. 1% 30. 0%
BiEEH EMHEFE 98. 5% 59. 5% 74. 2%
REEE BEEH EMHEFE 98. 5% 53. 7% 68. 8%
EFREREER EMHEF 98. 7% 74. 0% 72. 4%
EEEHE EMHEF 82. 1% 100. 0% 77. 8%
pr=atilt E R FRiE EMHEFE 100. 0% 93. 4% 85. 0%
REBEREHR EMHEF 100. 0% 94. 7% 77. 7%
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o=k o=y S (HEHS) 36. 6%
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